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1. Hd~vphik
(L)AL
1) 4R A1 T = 1. 000
i Hl BHE m3 75. 000
2) AT M 1. 000
A HE m3 72. 000
=T N L R BHE m3 72. 000
RS BHE m3 72. 000
Vs EW UL ¢ m3 72. 000
3)EmEE L 2y 1. 000
ek i B+ m 54. 000
(2) 8T
7y h—T B-16~17%£T 1% 2K X 1. 000
HIFL (7> =) CEE I, 146mm, BEE m 17. 200
HIfL (7 —) TEA TR, 146mn, 5 m 16. 700
HIFL (7> —) TR, 146mm, S m 0. 200
FAINTL. - #HSZ - FRA - BOR - AL (Vo) [400=1<1300kN PN 2. 000
779 MEA m3 1. 800
T — T igg%igg g;ﬁfi = 1. 000
2)7 v h—T. CD-7T~10¥£T 2% 8A& K 1. 000
ZIEM =7 ) — b m3 31.700
Rl T ot 62. 100
P i T ££200 N 3. 000
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TAE - FER - AR Biks HAZ B &
FVH VRAT T JZ10cm m 54. 000
Fhf L kAR 0L, RHSL SD345, D13 kg 255. 200
R L ERAHINL, #LS2 SD345, D16 kg 507. 200
Fhf L kA0 L, RS SD345, D19 kg 796. 000
L IE i 9. 700
HIFL (7> =) ZEE I, 146mm, BEE m 102. 600
HIfL (7 —) TEH TR, 146mn, 5 m 65. 700
HIFL (7> =) A, 146mm, BEE m 0. 800
FAINTL. - #ASE - FRA - BOR - EAEE (Vo) [400=1<1300kN PN 8. 000
779 MEA m3 9. 100
T — T igg%igg g;ﬁfi = 1. 000
2. T
(1) % T
1) i fif T 2V 1. 000
=T NT L= R S 1. 000
U A F N R - E # 1. 000
T o0 AR - B8 1. 000
TR - R B8 1. 000
2) R T = 1. 000
K=V r=o B [A] 3. 000
Y (7 J1—) Z¢m3 221. 800
TR
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(1)iEME
1)E R 2y 1. 000
£ TR AR - HESZ = 2. 000
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